

City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

Status File Number Title In Committee R-2003-0128 Resolution Resolution to approve bid for retaining wall and streetscaping in S. 70 St. from W. Walker St. to W. Washington St., in the amount of \$175,222.00. Introduced: 04/02/2003 Controlling Body: Public Works Committee COMMITTEE RECOMMENDATION APPROVATE adopt

MOVER: Utale AYES # 9 NOES O

SECONDER: Lively EXCUSED Kopplin COMMITTEE ACTION DATE 4-2-03 SIGNATURES OF COMMITTEE MEMBERS Chair Vice-Chair COMMON COUNCIL ACTION adopted FINAL ACTION DATE 4-2-03 AYE NO 1. Barczak 2. Czaplewski MOVER: 3. Kopplin molack 4. Lajsic 5. Murphy 6. Narlock 7. Reinke SECONDER: 8. Sengstock 9. Trudell 10. Vitale

TOTAL

C: Engunering Ser- Lept.



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2003-0128

Final Action:

Resolution to approve bid for retaining wall and streetscaping in S. 70 St. from W. Walker St. to W. Washington St., in the amount of \$175,222.00.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Arrow-Crete Construction LLC for 2003 Project No. 3 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Arrow-Crete Construction LLC for 2003 Project No. 3:

Retaining Wall and Streetscaping S. 70 St. from W. Walker St. to W. Washington St.

for the sum of One Hundred Seventy-five Thousand, Two Hundred Twenty-Two Dollars (\$175,222.00)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Community Development Block Grant Funds.

Eng03-53

ADOPTED

Paul M. Ziehler, Acting City Clerk/Treasurer

APPROVED

Jeannette Bell, Mayor

CITY OF WEST ALLIS 2003 Project No. 3 Bid Opening - 3/27/03

RETAINING WALL & STREETSCAPING S. 70 St. from W. Walker St. to W. Washington St.

Community Development Block Grant Project

Community Development Block Grant Project		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
		Arrow-Crete Construction, LLC 5483 S. Whitnall Ave. Cudahy, WI 53110		Marvin Gleason Contractor, Inc. 2811 Twin Waters Lane Franksville, WI 53126		LaLonde Contractor Inc. P. O. Box 070420 Milwaukee, WI 53207		Burkhart Construction Corp. P. O. Box 498 Butler, WI 53007		James Cape & Sons Company 6422 N. Hwy 31 P. O. Box 044580 Racine, WI 53404		Benavides Construction, Inc. 4522 Northwest Hwy. Waterford, WI 53185		Lunda Construction Co. 620 Gebhardt Rd. Black River Falls, WI 54615		Zenith Tech, Inc. P. O. Box 1028 Waukesha, WI 53186	
ITEM	UNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
Common Excavation	520 cu. yds.	12.00	6,240.00	17.00	8,840.00	18.76	9,755.20	7.80	4,056.00	35.50	18,460.00	62.00	32,240.00	20.00	10,400.00	22.00	11,440.00
2. Topsoil	250 cu. yds.	20.00	5,000.00	22.50	5,625.00	21.00	5,250.00	15.87	3,967.50	21.10	5,275.00	28.00	7,000.00	21.50	5,375.00	23.00	5,750.00
3. Concrete Asphalt Sawing	462 lin. ft.	1.50	693.00	2.65	1,224.30	1.40	646.80	2.23	1,030.26	0.75	346.50	3.00	1,386.00	2.00	924.00	1.60	739.20
4. Removal of Existing Concrete Stairs/Railings	5 each	350.00	1,750.00	500.00	2,500.00	100.00	500.00	111.36	556.80	150.00	750.00	2,000.00	10,000.00	1,450.00	7,250.00	450.00	2,250.00
5. Asphalt Surface Removal	515 sq. yds.	3.10	1,596.50	9.00	4,635.00	2.10	1,081.50	1.68	865.20	3.90	2,008.50	34.00	17,510.00	3.50	1,802.50	1.50	772.50
6. 5" Concrete Sidewalk	4928 sq. ft.	2.75	13,552.00	3.80	18,726.40	4.22	20,796.16	4.10	20,204.80	2.65	13,059.20	4.00	19,712.00	2.40	11,827.20	3,90	19,219.20
7. 7" Concrete Sidewalk	360 sq. ft.	3.00	1,080.00	4.20	1,512.00	4.89	1,760.40	5.33	1,918.80	3.50	1,260.00	5.00	1,800.00	2.80	1,008.00	4.25	1,530.00
8. 7" Vertical Face Curb	464 lin. ft.	22.00	10,208.00	20.00	9,280.00	15.21	7,057.44	28.78	13,353.92	17.00	7,888.00	20.00	9,280.00	13.35	6,194.40	18.00	8,352.00
9. Stairs, Complete	2 each	1,500.00	3,000.00	1,200.00	2,400.00	2,500.00	5,000.00	2,954.33	5,908.66	2,842.00	5,684.00	5,000.00	10,000.00	1,450.00	2,900.00	2,900.00	5,800.00
10. Retaining Wall	185 cu. yds.	390.00	72,150.00	415.00	76,775.00	511.20	94,572.00	613,40	113,479.00	651.00	120,435.00	650.00	120,250.00	1,088.00	201,280.00	1,195.00	221,075.00
11. Decorative Fence	572 lin. ft.	55.00	31,460.00	60.00	34,320.00	53.50	30,602.00	59.58	34,079.76	52.50	30,030.00	71.00	40,612.00	53.50	30,602.00	58.00	33,176.00
12. Crushed Red Granite	2855 sq. ft.	3.50	9,992.50	1.70	4,853.50	1.57	4,482.35	1.68	4,796.40	1.05	2,997.75	2.00	5,710.00	1.59	4,539.45	1.85	5,281.75
13. Planting	1 lump sum	14,000.00	14,000.00	10,600.00	10,600.00	9,917.50	9,917.50	11,023.90	11,023.90	12,300.00	12,300.00	15,000.00	15,000.00	14,500.00	14,500.00	10,917.00	10,917.00
14. Traffic Control	1 lump sum	4,500.00	4,500.00	8,000.00	8,000.00	1,000.00	1,000.00	3,465.29	3,465.29	2,400.00	2,400.00	2,500.00	2,500.00	8,400.00	8,400.00	3,650.00	3,650.00
1			175,222.00		189,291.20		192,421.35		218,706.29		222,893.95		293,000.00	1	307,002.55		329,952.65

^{*} Low Bidder in bold